## MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD. EHV CCCM DIVISION AKOLA.

OFFICE OF
The Executive Engineer (C)
EHV CCCM Dn. Akola.
Vidyut Bhavan 3<sup>rd</sup> Floor,
Ratanlal Plot Akola.



Phone No. 8554989441. Fax No. 0724-434477. E-Mail ID:EE1720@mahatransco.in

Date: 20.07.2017.

No.EEC/EHV/CCCM/Dn./Akl/Tech/390

e- Quotation	

Substation Risod, Dist. Washim.

**Ref:** 1) Approval Ltr. No. SEC/EHV/CCCM/Circle/Amt/T/ 136 Dtd. 03.06.2017.

Dear Sir,

Sealed & super scribed percentage rate quotations are invited so as to reach this office on or before 13:00 Hrs. on 02.08.2017 for Civil works for Construction of cable trench 900 X 900 at 132KV Substation Risod, Dist.Washim, as per Schedule 'B' enclosed & as per Terms & Conditions given below. In case of hand delivery Quotation should be hand over to receipt clerk of this office/concern office. In case of the postal delay of any type, the M.S.E.T.C.L. will not be responsible in any manner. Quotations will be opened on the same day at 15:00 Hrs. if possible.

The blank quotation form will be available free of Cost in the Office of Executive Engineer (C) CCCM Dn. Akola from 20.07.2017 to 01.08.2017 on working days from 11.00 AM to 16.00 Hrs.

The contractor should submit attested Xerox copies of all documents as given as per following terms & conditions along with the quotation. Right to split up the work or to reject any or all the quotations without assigning any reason thereof is reserved by the undersigned.

## **Terms & Conditions:**

- The work shall have to be completed within a period of **1 Month** (**One Month**) from the date of handing over the site failing which the contractor shall be liable to pay compensation of penalty 1 % per day maximum 10 % of value of the work order.
- 2) The rates accepted includes, a) All tools and plants required for carrying out the work.
  - b) All labour charges required to execute the work
  - c) All temporary work required to complete the work as directed.
- 3) Any other material if required shall be arranged by the contractor at his own cost. All royalties shall be paid by him.

- 4) The work shall have to be carried as per Standard specifications & with the best workmanship & to the entire satisfaction of Engineer in Charge.
- 5) The contractor shall be responsible for any accident / damages caused during execution of work & he shall have to make good of the same at his own cost as directed.
- 6) The Contractor shall be responsible to abide all prevailing labour laws including Workmans Compensation Act. Etc.
- 7) The payment shall be made on R.A. Bills / Final Bills.
- 8) Security deposit of **Rs. 14382/-** shall have to be paid with in 10 days from the date of issue of this work order.
- 9) The income tax & work contract tax / Vat or GST as applicable shall be deducted from your bill, as per rules.
- 10) The quantities mentioned in the Schedule 'B' are approximate and liable for variation.
- 11) The value of the work order is **Rs. 287631.00/-**
- 12) The Addl. Ex. Engr. (C) EHV CCCM Sub Division, Washim will be the Engineer-In-Charge of the work and all instruction regarding execution of work shall be issued by him.
- You would have to make good all defects developed in the work and also generally maintain the work in good condition during the period of six months from the date of handing over of entire work to the Company.
- **Jurisdiction:** All dispute / difference arising out of or any in connection with this order so conclude shall be subject to the exclusive jurisdiction of Akola City only.

Executive Engineer (Civil) EHV CCCM Dn. MSETCL, Akola

Copy. s. w. rs to :- The Superintending Engineer, EHV CCCM Circle, MSETCL, Amravati. Copy to:- For information please.

- 1) The Addl. Executive Engineer (C) EHV CCCM Sub-division, MSETCL, Washim.
- 2) The Dy. Manager (F&A) CCCM Division . Akola
- 3) MF.
- 4) Notice Board.
- 5) Mahatransco official website

## CSR 2016-17 Schedule B

SR.No	ITEM OF WORK	QTY.	RATE	UNIT	AMOUNT
1	Excavation for foundation in earth, <u>soil</u> of all types, sand, gravel and soft murum, including removing the excavated material up to a distance of 50 m. beyond the building area & stacking and spreading as directed, preparing the bed for the foundation and necessary backfilling, ramming, watering including shoring and strutting etc. complete. With Lift upto 1.5 m.	42.00	148.40	Cum	6,232.80
2	Providing and casting in situ cement concrete of following grade of trap/ granite/quartzite/ gneiss metal for foundation and bedding Including bailing out water, form work, compaction and curing etc. complete.				0.00
3	(a) P.C.C. 1:4:8  Providing and fixing in position <b>TMT</b> steel bar reinforcement	5.00 1.50	3818.57 49820.00	Cum MT	19,092.87 74,730.00
3	of various diameters for R.C.C. pile caps, footings, foundations, slabs, beams columns, canopies, staircase, newels, chajjas, lintels pardis, copings, fins, arches etc. as per detailed designs, drawings and schedules including cutting, bending, hooking the bars, binding with wires or tack welding and supporting as required complete.(T.M.T. steel from other Plant)	1.50			, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
4	Providing and laying in situ cement concrete of M-20 grade of trap / granite / quartzite / gneiss metal for R.C.C. work in foundations like <b>raft</b> , grillages, strips, foundations and footings of R.C.C. columns and steel stanchions including bailing-out water,plywood/steel formwork, compaction, curing and roughening the surface if special finish is to be provided ,finishing uneven and honeycombed surface with ement mortar 1:3 of sufficient minimum thickness to give smooth and even surface etc. complete. (Excluding reinforcement, & structural steel, including cover block) The cement morter 1:3 plaster is considered for rendering uneven and honeycombed surface only. Newly laid concrete shall be covered by gunny bag, plastic, tarpaulin etc. (Wooden formwork will not be allowed).	7.00	5541.07	Cum	38,787.51
5	Transportation of material obtained from debris of various sorts including necessary excavation / loosing including loading, unloading & conveying & disposing as directed.  For 1 km	42.00	164.30	Cum	6,900.60
6	Excavation for foundation in hard murum including removing the excavated material upto distance of 50 meters beyond the building area and stacking and spreading as directed, preparing the bed for the foundation and necessary backfilling, ramming, watering including shoring and strutting etc. complete. With Lift upto <b>1.5 m.</b> (Excluding dewataring)	42.00	174.90	Cum	7,345.80

7	Providing & laying prestressed concrete Cable trench covers of 50 mm /75mm thick with 8 nos of 4 mm dia. HT wire & casting with M400 grade cement concrete using contractor's own cement & compacted with 30MT hydraulic press machine incl. all taxes, loading, unloading & transportation etc. complete.				
	Above 75 mm thick	36.00	1347.64	Sqm	48,515.10
8	Providing fabricating structural steel work in rolled sections like joints, channels, angels, tees etc. as per detailed designs and drawings or as directed including cutting, fabrication, hoisting, erecting, fixing in position, making riveted / bolted / welded connections with connecting plates, braces etc. and including one coat of anticorrosive paint and over it two coats of oil painting of approved quality and shade etc. complete	0.3375	59784.00	MT	20,177.10
9	Providing and casting in situ cement concrete of M-20 grade of trap granite / quartzite / gneiss metal for R.C.C. Wall / pardi upto 150mm thickness as per detailed designs and drawings or as directed including centering, formwork of steel, compaction, covering newly laid concrete by gunny bag, plastic or tarpaulin, finishing the formed surface with cement mortar 1:3 of sufficient minimum thickness to give a smooth and even surface or roughening if special finish is to be provided and curing etc. complete. (Excluding reinforcement. The cement mortar 1:3 plaster is considered for rendering uneven and honeycombed surface only. Wooden planks / shuttering will not be allowed)	9.00	7316.57	Cum	65,849.16
		1	T	otal Rs.	287,630.93
		Sa	y Amountin	g to Rs.	287,631.00

Executive Engineer (Civil) EHV CCCM Dn. MSETCL, Akola

I am ready to execute the above presonelow / at par	cribed work With above /
in wordsestimated cost.	percent (Above / below/at par) the
	Agency's Signature :-
	Name & Address:-